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Void ClassRobort::ReadyFromRobort(){
/*varibleData from the robort definations*/

QByteArray byteArray;
/***copy All data from robort ***/

byteArray.resize(this->TcpSocket->bytesAvailable());
/**get the size of the data from the robort*/
int byteReadSize = this->TcpSocket->read(byteArray.data(), byteArray.size());
/**you may use the length to crc,based on the paper the length 1292 **/
/***do something*****/
{
Try{
}catch{
1
/**parse the data based on paper**/
/**address 444 started robort posture **/

int offsetTool = 444;
double buff = 0.0;
for (inti=0; i< 6; i++, offsetTool += 8) {
/**copy the memory data in double means 8 Bytes *****/
memcpy(&buff, byteArray.data() + offsetTool, 8);
/***our robort data swap the big-little so you may use the function like this solve
the data uncorrectly you may read our demo ***/
buff = this->swapDoubleEndian(&buff);

tcpxyz[i] = buff;}}



A a4

AR

1. PowerOn():HL#s AAK FH,

2. PowerOn():Hlas NFIBE, Al E i S, @R &
PLEs NAB TR, HLES NHEAN T RS BRAS .

3. TurnOff():HLES NFLIFF S . KIXMIED, RT ZePid, Plas ARtk
.

e

1 RIE R AL,

b=

BEEER

1. press([num,status]) AL A SEIEE, RSO R, Hlds A OCTT B 48 & A bR
MU RP AT, AR R AMEBRIRN B . BEnESEsd, HIEEITRE.
num: 0~5 AAFRFKATHA 1~6 L7, 6~11 fAFH KK xyz M RxRyRz /1], 99 A
f#IERE; status: 0 AARAMIZE), 1 ARRIERIZE).

SR

Press([5,0]) 6 X1, T AN, Press([6,0]) WUBE AR X 45 1175,
HI7 R E) o

2. movej: K1 A [Ali2 B

PRETIEIT: movej([q1,92,93,94,95,96],a=1.4,v=4.25,t=0,r=0)

TEMEUIRE: 91,92,93,94,95,06 AL N HARKTTMA L3 A AT S48 a=14
RN, v=4.25, HAlEARTEE: 0100 PO ()5 500858 Rl
R RGIRESHIEL.

e EWNE
movej([93.477,-93.334,83.666,-150.897,-82.793,-86.177],a=1.4,v=4.25,t=0,r=0)
HAoplas N bR R oA E T

ql = 93.477,2=-93.334,03=83.666,q4=-150.897,05=-82.793,06=-86.177, Ff. /il #[} =&
JE, DI EE . PRI (R A I AE Rl AR ER A



3. movel:H R/RMARR T, VAR NEA, HL&LIZEs). Maiiles M E B
IE| ISR AN DA

PREHE . movel([x,y,z,Rx,Ry,Rz],a=1.4,v=4.25,t=0,r=0)

PRV xy,z WA N B RIALE, A2 m, AR 6 7, Rx,Ry,Rz HL
FNEFRERIEE, RN, 25 a=1.4 ZIREHEN, v=4.25, HofpE
AARTE: 07100 BUZEHLRI 5] 5P B AR R R GRS H0E N .

2 4l
movel([0.159930,-0.46549,0.618155,-2.844,-1.199,-1.694],a=1.4,v=4.25,t=0,r=0)
LNl IR YN E R Al IR VA=

x=0.159930,y=-0.46549,2=0.618155, .1/ /& m. Rx=-2.844,Ry=-1.199,Rz=-1.694, F.{i|
J& rade MR HUIERRI S (AR EZEAS Al A2 BR A

4. movec: [ iz 5]

B0 movec([q1,92,93,94,95,96),911,022,933,q44,955,966)

PRI 91,92,93,94,95,06, Hlas ABOERIUSBIIIEE — A, KRR
JE1E, 911,022,933,044,955,066, Hlas NIGEHIISBHIZ R, [FIRER R LG
. FoRHlas ANEHT AL RIKE B 2 A R RIE 5

[ 32 ) 5 4 ol e ) 25 ) = A i, o 7 R ) R B R A 2% . na@ AN e A
IR, i BTG S ) L o

227501
movec([93.450,-93.461,99.327,-165.361,-82.766,-86.16],90.956,-101.382,108.721,-1
66.712,-80.409,-87.034)

5. set_tcp: i EHLAF A AR uf L EALAR R

PREE . set_tep([x,y,z,Rx,Ry,Rz])

FEAR UL b xyz SRR T HARKR R AW A b O R X AL B, FALE m,
Rx,Ry,Rz /R A HT AL IR BRI HI AL, BA02 rad.

25 . set_tep([0.159930,-0.46549,0.618155,-2.844,-1.199,-1.694])— % 5 T. A
s LR AB B LA A T



CINE R

1. digital([num,status]):# io fi it T 5 HEAE 4o

YiBl: num FoRHEH o MR 5 (1~13), H o %I 14 B 16 OALZ RGN
o, AT 17718 AR T E 10 (HRTRA CA HLELERD) , status &
AHFE I 0 8L 1 FoR

SN digital([2,1]), F 2 5 HJF, digital([2,0]), fith 2 S H%



